®0 Briiche mit gleichen Nennern multiplizieren (kleiner als

1)

A 4
©
4’4)( KW

Aufgabe 1 Aufgabe 2
3 1 3 2

1. — & — = . — e« — =
5 5 4 4
2 1 4 3

2. — o — = 2. — o — =
5 5 5 5
2 1 3 2

3. — ¢ — = 3. — o — =
5 5 4 4
4 1 4 3

4L — . —_— = 4L — ° — =
5 5 5 5
4 1 4 3

5. — o — = 5 — ¢ — =
5 5 5 5

Aufgabe 3 Aufgabe 4
2 1 3 1

1. — o — = 1. — e« — =
3 3 4 4
4 4 2 2

2. — o — = 2. — & — =
5 S 4 4
1 1 4 3

3. — ° — = 3 — ° J— =
3 3 5 5
2 1 4 4

4L — ° —_— = 4L — ° N =
4 4 5 5
3 2 4 3

5. - o - = 5_ —_ ° e =
4 4 5 5
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0 Briiche mit gleichen Nennern multiplizieren (kleiner als * %
1) | ANTWORTEN
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Briiche

Aufgabe 1 Aufgabe 2
3 1 3 3 2 3
. — e — = — 1. — & — = —
5 5 25 4 4 8
2 1 2 4 3 12
2 [ ) —_— = —_— 2 —_— Y J— = _
5 5 25 5 5 25
2 1 2 3 2 3
3. — e = = — 3. — & — = —
5 5 25 4 4 8
4 1 4 4 3 12
4 _— [ —_— = —_— 4 —_— o J— = _
5 5 25 5 5 25
4 1 4 4 3 12
5. — & — = — 5 — = —
5 5 25 5 5 25
Aufgabe 3 Aufgabe 4
2 1 2 3 1 3
. = e = = — 1. — e — = —
3 3 9 4 4 16
4 4 16 2 2 1
2. — & — = — 2. — & — = —
5 5 25 4 4 4
1 1 1 4 3 12
3. — e — = — 3. — e — = —
3 3 9 5 5 25
2 1 1 4 4 16
Lo = e — = — b — e = = —
4 4 8 5 5 25
3 2 3 4 3 12
5 — ¢ — = — 5. — o+ — = —
4 4 8 5 5 25
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